H & 0l & AHS B Ml A

20258 = =0ilah LB J1= 0l LA Xt

SA: JIZ0H X 2
FH: AYEON SEHA

chel: EEEXD ARIES (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
JI= 0 Xl 2 18,369,341 34,793,434 A 16,424,093
= 13,067,268
= 42,530
| 67,600
= 486,716
Al 4,705,227
ACIEN SHZoHd 177,770 243,170 A65,400
J| 67,600
Al 110,170
SEEAY ANES 177,770 243,170 A65,400
| 67,600
Al 110,170
EASEEOIEN 2H(0I3) 92,600 106,600 A14,000
| 46,300
Al 46,300
301 LEENZ 92,600 106,600 A 14,000
| 46,300
Al 46,300
14 J|EI2 A3 92,600 106,600 14,000
OESHASYEOIER QHEIE XZ2(012)
92,600,000 92,600
J| 46,300
Al 46,300
NSt BEASEIEEH 29(012) 42,600 45,000 A2,400
| 21,300
Al 21,300
301 LPENZ 42,600 45,000 22,400
| 21,300
Al 21,300
14 J|EI2 43 42,600 45,000 A2,400
OXtskt EEASEEQIEN CIMEIE XIZ
42,600,000 42,600
J| 21,300
Al 21,300
J|IZ2Hs szl 42,570 63,170 A20,600
201 Let23H| 42,570 63,170 220,600
01 At 2elt] 41,800 52,400 210,600
O24aItA HEAHHH &8
17,600,000 17,600
O240tA HHEAHHM M3k S ===
20,000,000 20,000
OBASSH=MEE 23S 39 Y
100,000 *14F*33| 4,200
02 324l 770 770 0




2A:

JIZ 0L Xl 2

M ANYUEA sBHd
tel: 32NN ARES EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2&tA BIE2 HNN et=HcH4a Sl
770,000& 770
BasE SdTAl 24 380,404 538,114 A157,710
BASE MM 2= X 82 380,404 538,114 157,710
BASE S S 2= 4,000 7,200 13,200
201 =3 4,000 7,200 23,200
01 At2t2ltl 4,000 7,200 23,200
OHASH U8 2948 25 NEsE
100,000 *2A1 2+ 10 %23] 4,000
S 0lMEX SelE gd 361,134 470,134 A119,000
201 fer23| 5,000 10,000 25,000
01 AtR2t2|HI 5,000 10,000 25,000
ORdE UM Se&E |Al2c
5,000,000& 5,000
308 AXIHMSO0IA 346,134 460,134 114,000
13 SI[2S0He 4 A AS A 346,134 460,134 114,000
OF&E DI SelE Z4H AHAILS
Bl 346,134,000 346,134
Bazsd 22 X 25,270 36,780 A11,510
201 er2&| 21,770 33,280 A11,510
01 At2teltl 20,000 25,000 /5,000
OEASE AM2UAS SHE 28
20,000,000 20,000
02 s3=gHl 1,770 8,280 26,510
OgRsIE =Xl 1,770
— NS XA 150,000 «1CH 150
—NsSXHEE=E 500,000 *1CH 500
—= A2l 320,000 *1CH 320
- 800,000 *1CH 800
203 =] 3,500 3,500
03 A=A 2= 3,500 3,500
Oasg d2ig g4
3,500,000& 3,500
S&==E2 IIE A 17,007,670 32,972,641 15,964,971
= 12,854,778
= 42,530
[ 441,150
Al 3,669,212
OIMIRIX XS HS2e 31,200 1,500,000 1,468,800
SEZ2E |X2a 31,200 0 31,200
201 er23 | 31,200 0 31,200
2 352484l 31,200 0 31,200
O2e 2t AIAE |X2eld] 31,200




[my

SA JI=0IH X1
M MA=xF2 I A
chel: DIMSIR ol HEae) (el &
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—MoIE= & ot
3,000 +70E+202L+53 21,000
—dIIes 400,000 x2CH*5 4,000
—Stes % IV 22l
300,000 *2CH*5E 3,000
— A&7 X2l 3,200,000 3,200
toletd 58 2e 252,517 227,592 24,925
= 45,000
Al 207,517
Uoletd 53% RAl2c 178,597 150,000 28,597
= 45,000
Al 133,597
201 et 3| 178,597 150,000 28,597
== 45,000
Al 133,597
01 At22t2lt] 30,049 1,452 28,597
Olyletd £3Y SAEY| eXi=
24,2003 x5 A+ 128 1,452
= 436
Al 1,016
Oliy|etd =3Y =33 F=HA
28,596, 7002 28,597
02 s3=gHl 148,548 148,548 0
Ootoletd £3Y A2
29,709,600 *5I 2 148,548
< 44,564
Al 103,984
toled dae 2l 57,555 59,475 21,920
201 Ler=23 | 57,555 59,475 1,820
01 At22te|Hl 7,680 9,600 1,920
Ootiyjetd da3s 425 7
1,280,000 *69H 2 7,680
02 s3=gHl 49,875 49,875
ol dae 5323 28,275
—&JIe= 2,200,000&12& 26,400
—Sties 156,200& * 12 1,875
OolJletd dae sX2el
300,000 x6IH 2=+ 123 21,600
ORI dsS & At 15,405 16,917 A1,612
201 =3 15,405 16,917 A1,512
02 35244l 15,405 16,917 A1,512
OUINEX dsE SRS
16,6303 *Q A+ 123 1,797
OOIMZA dlsS FXl2el
126,000 «Q0H -+ 123 13,608
— 3 —




SA JI=0IHX o
Hau: MARAE [DIE A
&t Oolgd s32 22 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2FeE =34l 2 960 1,200 N240
201 er23 | 960 1,200 A240
01 AlR 21| 960 1,200 240
OBH2Y S[TY 22F 7Y
480,000 480
O=ZZHl 3= S A 480,000 480
=2 1 e 16,723,953 31,245,049 14,521,096
= 12,854,778
[ 42,530
== 396,150
Al 3,430,49%
FAHES OISAIE HUSIIE KA 46,976 0 46,976
= 14,093
Al 32,883
201 er23| 46,976 0 46,976
= 14,093
Al 32,883
01 AtR2te|HI 46,976 0 46,976
OFSAS 01SAIE AUHSIIE IHE A
46,976,000 46,976
< 14,093
Al 32,883
NHEE N=sA2Ye ESMS 48,840 42,000 6.840
= 32,040
Al 16,800
402 212t X+=01 & 48,840 42,000 6.840
= 32,040
Al 16,800
02 QI XHE AL E R (01X THE) 48,840 42,000 6,840
OJEE MN=sA22e E=SME
48,840,000 48,840
= 32,040
Al 16,800
SR BHEIA HZAHY 2,593,438 5,212,700 A2,619,262
= 1,831,375
== 183,138
Al 578,925
402 2I2E X201 & 2,593,438 5,212,700 A2,619,262
= 1,831,375
= 183,138
Al 578,925
02 BIENEASEZ(0IETHR) 2,593,438 5,212,700 A2,619,262
Od=xt HAF, MBEX F2 S At
2,593,438,000& 2,593,438
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2A:
PSER
o e

el

JIZ0fIL1 X/ 2t
HTRLZO| IR N

AT T

= HIIE e

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

Mo

=

1,831,375
183,138
578,925

Mo

=

128,726
64,363
9,654
54,709

155,966

A27,240

402 2I2F X201 &

hoH

=

128,726
64,363
9,654
54,709

155,966

N27,240

SE(OIXMTHE)

(o]
=]
OE3J12H31 tiE0tA M EX ds<A
el

2| 128,726,000

hoH

128,726

128,726
64,363
9,654
54,709

155,966

A27,240

33,880

36,969

A3,089

33,880

32,969

9N

33,880,0002

[l

33,880

33,880

32,969

9N

TSPIPN =P | IPNE

Mo

=

10,531,000
9,495,000
168,000
868,000

23,692,000

/13,161,000

402 SI2ERH=201 S

Mo

10,531,000
9,495,000
168,000
868,000

23,692,000

/13,161,000

— &=t

—MIIHA

Zxt 5,705,000,000&

3,930,000,000&

896,000,000

=}

H

=

hoH

10,531,000
10,531,000
5,705,000
5,205,000
500,000
3,930,000
3,730,000
200,000
896,000
560,000
168,000
168,000

23,692,000

/13,161,000

SII0IEX E=AH

90,000

235,200

A 145,200




SA JI=0IHX o
M MA=xF2 I A
ol =2 IIE e (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 66,000
Al 24,000
402 QIF X201 & 90,000 235,200 145,200
= 66,000
Al 24,000
02 QI A2 AL E R (0IHTHE) 90,000 235,200 145,200
O&II0IE ESAHE 90,000,000 90,000
= 66,000
Al 24,000
D=2 E=SAE 20,000 70,000 50,000
= 10,000
Al 10,000
402 212 X201 & 20,000 70,000 /50,000
= 10,000
Al 10,000
02 QI X2 AL EE(0IETHE) 20,000 70,000 50,000
O&II=Z2| BESAHY 20,000,000& 20,000
= 10,000
Al 10,000
FAMIINSA E2AH 1,650,000 900,000 750,000
= 1,350,000
Al 300,000
402 2I2FXH=201H 1,650,000 900,000 750,000
= 1,350,000
Al 300,000
02 QI X2 AL EE (01X THE) 1,650,000 900,000 750,000
O%AHINET Q222
1,650,000,000& 1,650,000
= 1,350,000
Al 300,000
01210l SSxtE2l LPGAF Mt X2 A 12,000 50,000 38,000
= 6,000
Al 6,000
402 2I2F X201 & 12,000 50,000 38,000
= 6,000
Al 6,000
02 QI TH2AILEE (01X THE) 12,000 50,000 /38,000
OO0l el0l Sstxteel LPGRE Mk XIZ AL
12,000,000 12,000
= 6,000
Al 6.000
FAaENA 4X] - 29 1,372,330 697,739 674,591
308 AXIHSOIA 1,372,330 658,389 713,941




SA JI=0IHX o
M MA=xF2 I A
el =C3 HIIE A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 271 2+S 0l CHEH 3 AL E RISt At 1,372,330 658,389 713,941
O%ABHA FYH FISAY]
1,372,330,000& 1,372,330
TSN NSA ESAY BELER 31,929 31,309 620
101 21A4H| 31,929 31,309 620
04 JIZtN2Z2 XS 31,929 31,309 620
OgZzaA ISt ESAY EXgR 2
rals]l 24,716
=2
10,0303 12 +8AI 2+222 « 118 19,419
—E=gag
10,0302 x 1 +BAI 265+ 11E 4,414
— %X 10,0302 «1&»8AI 2t 112 883
OB st ISt ESAtE 2X8R M
ges 4,708
—JlEzs
1,9103 x 1 +BAI 222+ 113 3,698
FEay
1,9103 »1E+BA| 2H+5=+ 112 841
— ¢ x==g 1,910 1 +BAI 2t 112 169
OZdstd ISt EsAg 22882 2
8= 2,505
—=bd=s 29,424,0002 4. 5% 1,325
—JdAEE 29,424,000 *3.545% 1,044
—LoFIQAEH
1,044,000 %12.95% 136
A=t 2SS oL & DEHE St 57,774 59,877 22,103
101 @124H| 31,929 31,309 620
MU IIRIMZENSES 31,929 31,309 620
OXNSA SHMS ot & JElE =0 2&
=R s kala 24,716
—Jl2=s
10,0303 x 12 *BA| 2Hx222 « 11E 19,419
—Fgay
10,0302 x 1 +BAI 255+ 11E 4,414
— %X 10,0302 x1&x8AI 2+ 112 883
OXsSxt 2 HMEH ot L WEE 20 EX
AR MBS 4,708
=2
17,9102 x1H+BAI 2222« 113 3,698
—z=gay
1,9103 1 +8AI 26T+ 112 841
— g xt=E 1,910« 1 +BAI 2 112 169
OXsSxt 2HMSEH ot L WS 20 EX
Qe "= 2,505
—=8le= 29,424,0003 *4. 5% 1,325
—2IEE 29,424 ,0002 %3.545% 1,044
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2M: JIFuIE X2t
I MRIZAZO| [HI|E KM

AT T

o2l =23 IIE HM (Cre|: ®M2)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
=L QYEE
1,044,0002%12.95% 136
201 L= 25,845 28,568 22,723
02 2324l 25,845 28,568 A2,723
O2&HME DM L& SERI(SII) 25,845
—LC2ERI SEHMEHLEZ) I8 DXIA
2,620 x321+32/+8& 0.8 151
—HZ2CIH 2HE A8 DXIA
2,620+ 1521+331+802 0.8 7,546
—HI&MZEX S-ME ?18 DXA
2,6202+621%32/+0.8 38
—ZEHASIY AL DA
2,6203 450244+ 122+0.8 11,319
—OIEXt HHEJtA ZII1EAM 2UHE 2 2
gt DXIA 2,620% 20024128 +0.8 5,031
—0UXIEIRH At 28 SXIA
550&+4,00024%0.8 1,760
ZSEASIHY 2t WEHE R AIAE 2= 22,000 0 22,000
207 AR 22,000 0 22,000
02 HADHEH] 22,000 0 22,000
Oz Z RS 2Bt DEHS P AIAE
5 22,000,000 22,000
OINIEIX SHEHE Ol2 ZAIALY 85,060 0 85,060
= 42,530
< 21,265
Al 21,265
101 e124d| 66,660 0 66,660
s 33,330
S 16,665
Al 16,665
04 JIRHHZ2Z2REE S 66,660 0 66,660
O0IMIgX 2diiE 223 AR
66,660,000 66,660
s 33,330
S 16,665
Al 16,665
201 L2 18,400 0 18,400
s 9,200
S 4,600
Al 4,600
01 AFS2t2ltl 15,100 0 15,100
OOIMZA =gtHE I3 23| 15,100
—SEXE AXE
900, 0003 *1CH* 112 9,900
= 4,950




SA: JIZ0H X 2

I /\“'I':’Axol CHOIE JHe

=i

eelr =23 HIE e EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 2,475
Al 2,475
—JIEt 22L&l 5,200,000& 5,200
s 2,600
= 1,300
Al 1,300
02 324l 3,300 0 3,300
OUIMT SIS D2EAY e
=S4l 300,000&*1CH* 112 3,300
= 1,650
& 825
Al 825
OILdXl 012 &clat ¥ JtAQHM 22| 755,037 983,470 A228,433
= 212,490
& 45,566
Al 496,981
oI Xl &elst 01S 755,037 983,470 A228,433
= 212,490
& 45,566
Al 496,981
AMTHAEAHKIEZ 26,352 38,000 A 11,648
201 L2 | 720 2,000 21,280
02 3324l 720 0 720
O SLIHE & 43
240,000 *30H 2~ 720
402 CIZERH=0I M 25,632 25,632
02 QIZERH2 AL 22 (0| &) 25,632 25,632
OATHANUHXIE S (X2 ) AL
1,068,000 x240t=1 25,632
ATHMHHK SSEXIJALS 583,133 692,920 A109,787
= 183,180
Al 399,953
402 QI X201 583,133 0 583,133
= 183,180
Al 399,953
02 QIZIXH2 AL 22 (01 & &) 583,133 0 583,133
OAITHAOIL X =t X3A
583, 133,000& 583,133
= 183,180
Al 399,953
OlLIEHZE E=SX3ALS 29,232 30,000 AT68
& 14,616
Al 14,616
402 QI X201 ™ 29,232 0 29,232




2A:
X XH -
o e

=aak

JIZ 0L Xl 2
OIXl Ol &clat & JtA0t
O Xl &elst 018

B
I
o

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 14,616
Al 14,616
02 QI X2 AL EE(0IETHE) 29,232 0 29,232
ObILIHZE 2S5 X2 A
29,232,000& 29,232
= 14,616
Al 14,616
FHAAS HHXISXK 47,000 81,100 A34,100
= 26,700
Al 20,300
401 A2 HIRL R 0HbI 47,000 81,100 A34,100
= 26,700
Al 20,300
01 Al&H| 47,000 81,100 A\34,100
OMASE LEDEE uA 16,000,000 16,000
= 11,200
Al 4,800
OAI2ISXIAIE LEDEE WA
31,000,000& 31,000
= 15,500
Al 15,500
CADEA 2 XA 43,200 92,000 /48,800
= 21,600
Al 21,600
402 QI”F X201 & 43,200 92,000 /48,800
= 21,600
Al 21,600
02 QI X2 AL E R (01X THE) 43,200 92,000 48,800
OZADIA B2t X2 A
43,200,000& 43,200
s 21,600
Al 21,600
LPGEI| AFEIt7 AIEIHE A 5,220 11,250 26,030
= 2,610
Al 2,610
403 X SHHMSAH=01H 5,220 11,250 26,030
= 2,610
Al 2,610
02 SISO et =2 A P EF A I 5,220 11,250 26,030
OLPGE | AFEItE AIEHE A
5,220,000& 5,220
= 2,610
Al 2,610
284 FHEIGAME SEXA 2,200 2,200 0




SN OIS
2 UK ol gclat & JrAetd 2ie|
s iUl gclst 018 (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 2I2+01H 2,200 2,200
R QIABAAARE 2,200 2,200
OLTAZBT AN SEXE
2,200,000 * 104 2= 2,200
ZE0Hl U X=X XA 18,700 36,200 16,500
=S 9,350
Al 9,350
403 AXIEHHSAH=201H 18,700 35,200 16,500
< 9,350
Al 9,350
02 SIS0t =S A A 18,700 35,200 216,500
OZZUHl HiUXI=X X2 A
18,700,000 18,700
= 9,350
Al 9,350
Y 2IZHIOI=0HXIY) 48,460 56,039 NT,579
=&4| 48,460 56,039 AT,579
JI=23Hl 48,460 56,039 AT,579
201 2egh=3| 25,900 25,031 869
01 At2t2lt] 22,464 20,736 1,728
ORMEgII1=23H| 22,464
—2et=SH| 40,0002 x262 x12&+0.8 9,964
—=4| 50,0002 x262H =122 +0.8 12,480
02 s3=gHl 3,436 4,295 A859
OHHADEN 2B Y YR 3,43
—glpt 4301+9,28024+0.8 3,198
—S 2,5302%12021+0.8 243
202 04dl 18,720 27,648 A\8,928
01 =LHNHI 18,720 27,648 8,928
OgRFa|=0H|
120,000 x262 %122 +0.5 18,720
203 =] 3,840 3,360 480
M EASHLRFAH 3,840 3,360 480
ORNSgERF=AHI
400,000& x12&+0.8 3,840
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